LIST NO. H806

LIST

Hitachi Power Tools

TOOL PARTS

ELECTRIC
l CORDLESS DISC GRINDER

2008-3-18

(E1)

Model G 14DSL




PARTS G 14DSL
| "No, CODE NO. DESCRIPTION Ui REMARKS
1 328-643 TAPPING SCREW (W/FLANGE) D4X23 (BLACK) 4
2 301-944 PUSHING BUTTON 1
3 303078 GEAR COVER ASS'Y 1 INCLUD. 2,7
4 360-803 ARMATURE AND PINION SET 1
5 328195 MAGNET 1
6 328201 RUBBER BUSHING 1
7 301943 LOCKPIN 1
8 316-487 RETAINING RING FOR D11 SHAFT 1
9 316-486 WAVE WASHER 1
10 328-196  GEAR 1
11 600-1VV BALL BEARING 6001VVCMPS2L 1
12 301-946 FELT PACKING 1
13 301-936 SLOTTED HD. SCREW (SEAL LOCK) M4X10 3
14 328-198 PACKING GLAND 1
15 307-127 _ SEAL LOCK SCREW (W/SP. WASHER) M4X12 4
16 328-359 SPINDLE M14 1
16 328-360 SPINDLE 5/8"-11UNC 1 FORUSA, CAN
17 301-945 FRINGER 1
18 | 308-386 |MACHINE SCREW (W/SP. WASHER) M5X16(BLACK) 2
19 301-949 SET PLATE 1
20 315-492 WHEEL GUARD ASS'Y 1 INCLUD. 18,19
21 937-817Z WHEEL WASHER 1
21 319-373 WHEEL WASHER 1 FOR USA, CAN
22 316-821 D.C.WHEELS 115MM A36Q (25 PCS.) 1
23 994-324 WHEEL NUT M14 1
23 937-923P WHEEL NUT 5/8"-11UNC 1 FORUSA, CAN
24 302-047 WOODRUFF KEY 1
25 328200 BRUSH CAP 2
26 999-054 CARBON BRUSH 5X6X11.5 (1 PAIR) 2
27 328-202 BRUSH BLOCK 1
28 329-902 HOUSING (A). (B) SET 1
29 301-653 TAPPING SCREW (W/FLANGE) D4X20 (BLACK) 5
30 NAME PLATE 1
31 323229 FERRITE CORE 1 FOR EUROPE
32 326-493 SUPPORT (D) 1 FOR EUROPE
33 328199 SLIDE BAR 1
34 314428 SLIDE KNOB 1
35 HITACHI LABEL 1
36 329-057 PUSHING BUTTON SWITCH 1
37 328-203 CONTROLLER TERMINAL SET 1
38 329-083 BATTERY BSL 1430 (EUROPE) 2 INCLUD. 504
-2- *ALTERNATIVE PARTS 3-08




STANDARD ACCESSORIES

G 14DSL

ITEM
NO

CODE NO.

DESCRIPTION O,

REMARKS

501

318-312

SIDE HANDLE

502

938-332Z

WRENCH

503

CHARGER (MODEL UC 18YRSL)

504

329-897

BATTERY COVER

505

328-206

[ G I G U I S N

CASE

OPTIONAL ACCESSORIES

ITEM
NO

CODE NO.

DESCRIPTION O,

REMARKS

601

937-826Z

WASHER NUT

601

938-318

WASHER NUT

FOR USA, CAN

602

937-825Z

RUBBER PAD

602

938-317

RUBBER PAD

FOR USA, CAN

603

314-095

SANDING DISCS 115MM C-P16 (10 PCS.)

604

314-096

SANDING DISCS 115MM C-P20 (10 PCS.)

605

314-097

SANDING DISCS 115MM C-P24 (10 PCS.)

606

314-098

SANDING DISCS 115MM C-P30 (10 PCS.)

607

314-099

SANDING DISCS 115MM C-P36 (10 PCS.)

608

314-100

SANDING DISCS 115MM C-P40 (10 PCS.)

609

314-101

SANDING DISCS 115MM C-P50 (10 PCS.)

610

314-102

SANDING DISCS 115MM C-P60 (10 PCS.)

611

314-103

SANDING DISCS 115MM C-P80 (10 PCS.)

612

314-104

SANDING DISCS 115MM C-P100 (10 PCS.)

613

314-105

SANDING DISCS 115MM C-P120 (10 PCS.)

614

310-338

e N o I N o N e N N = Y ™ N S W i W ' §

SUPER WASHER

EXCEPT FOR USA, CAN

*ALTERNATIVE PARTS




G 14DSL

| "No, CODE NO. DESCRIPTION a2 REMARKS
-4 - *ALTERNATIVE PARTS Printed in Japan 3 -08

(080318N)





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 600
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 2.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 600
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 2.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<

  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 0
      /MarksWeight 0.283460
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /JapaneseWithCircle
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


